
V	
  dôsledku	
  prebiahjúcej	
  pandémie	
  musím	
  zmeniť	
  aj	
  spôsob	
  skúšania.	
  	
  
	
  
	
  
Doteraz	
  som	
  úlohy	
  neznámkoval	
  hoci	
  sa	
  veľmi	
  líšila	
  úplnosť,	
  správnosť,	
  kvalita	
  i	
  
rozsah	
  ich	
  spracovania	
  -­‐	
  od	
  pár	
  viet	
  po	
  pár	
  strán.	
  	
  
	
  
Odteraz,	
  počnúc	
  touto	
  úlohou,	
  ich	
  budem	
  známkovať	
  a	
  Feto	
  známky	
  budú	
  
podkladom	
  pre	
  záverečnú	
  známku	
  z	
  predmetu.	
  Čiže	
  po	
  zaslaní	
  úlohy	
  vám	
  
odpišem	
  nie	
  OK	
  ale	
  známku,	
  prípadne	
  s	
  komentárom,	
  v	
  čom	
  bol	
  problem,	
  a	
  už	
  
sa	
  k	
  jej	
  hodnoteniu	
  nebudem	
  vracať.	
  	
  
	
  
	
  
Na	
  webe	
  si	
  teda	
  odteraz	
  nájdete	
  hodnotenie	
  A-­‐F,	
  podmieka	
  odovzdania	
  úlohy	
  
ostáva.	
  	
  
	
  
V	
  prípade,	
  že	
  budete	
  chciet	
  lepšiu	
  známku	
  ako	
  vám	
  vychádza,	
  je	
  tu	
  možnosť	
  
opravenia	
  vyriešením	
  dodatočných	
  úloh.	
  Konkrétne,	
  na	
  konci,	
  po	
  4	
  
oznámkovaných	
  úlohách,	
  vám	
  zapíšem	
  výsledné	
  hodnotenie.	
  Vy	
  ho	
  môžete	
  
akceptovať,	
  alebo	
  mi	
  napíšte,	
  že	
  si	
  to	
  chcete	
  zlepšiť.	
  	
  
	
  
	
  



Pijúce	
  filozoRy	
  
	
  
1.	
  Bude	
  fungovať	
  riešenie,	
  ak	
  filozoRa	
  počas	
  toho,	
  ako	
  je	
  smädná	
  
•  a)	
  prestane	
  mať	
  chuť	
  na	
  nejaký	
  nápoj,	
  
•  b)	
  dostane	
  chuť	
  na	
  nový	
  nápoj	
  
Pre	
  oba	
  prípady	
  odôvodnite	
  prečo	
  áno	
  (ak),	
  prečo	
  nie	
  (ak	
  a	
  navrhinte	
  
ako	
  to	
  opraviť).	
  
	
  
2.	
  Predpokladajme,	
  že	
  príslušný	
  graf	
  je	
  kompletný.	
  Dalo	
  by	
  sa	
  riešenie	
  
zjednodušiť?	
  Ak	
  áno,	
  ako,	
  ak	
  nie,	
  prečo	
  si	
  to	
  myslíte?	
  
	
  
3.	
  Predpokladajme,	
  že	
  filozoRa	
  môže	
  piť	
  stále	
  no	
  nie	
  Fe	
  isté	
  napoje,	
  
t.j.	
  nápoje	
  postupne	
  dopíja,	
  prípadne	
  dostáva	
  chuť	
  na	
  ďalšie,	
  ktoré	
  
ešte	
  nepila.	
  Dopiť	
  musí,	
  ak	
  už	
  	
  každý	
  nápoj	
  ochutnala.	
  Bude	
  riešenie	
  
fungovať?	
  Odôvodnite	
  prečo	
  áno	
  (ak),	
  prečo	
  nie	
  (ak)	
  a	
  navrhinte	
  ako	
  
to	
  opraviť.	
  
	
  
4.	
  Dalo	
  by	
  sa	
  riešenie	
  zjednodusšiť,	
  ak	
  by	
  bol	
  na	
  výber	
  len	
  jeden	
  nápoj?	
  
Ak	
  áno,	
  ako,	
  ak	
  	
  nie,	
  prečo	
  si	
  to	
  myslíte?	
  
	
  
	
  
	
  


